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1. 'What is the proper name of the following éompound?

(A) 2-bromo-2-ethylhexane (C) 2-bromo-5-methyiheptane
(B) 2-ethyl-2-bromohexane (D) 3-methyl-6-bromoheptane
Br ’

2. What is the proper name of the following compound?

—/—QOH (A) 2-methyl-4-propylphenat  (C) 6-methyi-4-propylphencl
cH (B) 1-methyl-3-propyiphenol (D) catechol
3 .

3.  What is the proper name of the following compound?

L[b (A) cycloheptane {C) 2,5-dimethylenecyclopentane
(B) bicyclol2,2,ilheptane (D) eyclodextrin

4. Which structure represents the following name more correctly?

diethyl ether (A) /\O/\ (B) MOH (C) (OJ D) /*-\O./\/

5. Which structure represents the following name more corréctly?

{A) (B) (€) HO @y N =
3-phenyt-2-butanol HO_.R_\ HO 7Y How

6. Which structure represents the following name more correctly?

(A) (8) ) (5
naphthalene @(

7. Which of the following compound is more likely to be the major product of the following reaction?

B
@ Bra (A) O’ ' Q () Q (D) Q
: “Br Br

8. Which of the following compound is more likely to be the major product of the following reaction?

0
1. BHg ~OH
@\ ) (I (8 © O‘CH © N\ H
2. HzO;J'OH 'CH. ", 3
E OH 0P

9. Which of the following compound is more likely to be the major product of the following reaction?

CHCly <<l
S O @ e OF o O
cl

10. ‘Which of the following compound is more likely to be the major product of the following reaction?

HgSC, e} H
N % | w (5) © s
/\\ H 1 H,0 /\)LH - q{ N /\[Or

11. 'Which of the following compound is more likely to be the major product of the following reaction?
Li

—_— (A} Bl - (O (D) HzN: /
= — .
NH3 AN . . /_\ - NHQ
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12. Which of the following compound is meore likety to be the major product of the following reaction?
. (A} (B} <) {24
= 1.8Bry ar. O / - — /./'—:\.\
OO o O=0 T,

13. How many stereocenter(s) is(are) presented in the following compound?
0

@j&cn—h
*H (Ao (B)1 )z (D3
H oH
14. In the above compound (question 13), the absolute stereochemical configuration of carbon I is:
(A)R (B)S ©G (D) not a chiral center
15. In the above compound (question 13), the absolute stereochemical configuration of carbon IIl js:
(A)R (B)S3 (C)YG (D) not a chiral center
16. The absolute stereochemical configuration of the following compound is:
COOH
H-—OH (AR (S (GG  (D)nolachiral compound
CHg

17. What is the relationship between the following two compounds?
H OH
H3C+C2H5 V.8 H+CH3 (A) Same thing  (B) Diastersomers  (C) Enatiomers (D'} Conformers
OH CzH5

18. Which of the following number is the closest one to the pK; value of protons X of the féllowing compound?
o 0

H "H
B )y Mo

19. In the above compound (guestion 18), which of the following number is the closest one to the pK, vaiue of

H
4 7 = (A) 60 (8)45 (C)25 (D310

proton 7
(A) 60 (B) 25 (C) 45 (D) 10
20. In the above compound {question 18), which of the following number is the closest one to the pk, value of
proton IH?
(A) 60 (B)25 (C) 45 (D) 10

21. Which of the following solvent will allow the following reaction to pursie most rapidly?
g+ Ny —— NN, o+ B (AYHO O (B)MeOH  (C) Benzene (D} MeCN

22. Which of the following alky! halide will react most rapidly in the following reaction condition?

' w H @ Ho© CH: (D) ChHy
R—Br + H0 —» R-OH + HBr  H—|—Br  HyC—|—8r HaC—fBr  HyC——Br
H H . H CHs

23, Which of the following compound is more likely to be the major product of the following reaction?

OH OH OH OH OH

@ Bra {8) @Bf () /@EB' (D)/@\

="0oH OH oH  Br oH  Br OH
r

B
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Which of the following compo‘und is more likely to be the major product &of the following reaction?

1, o o
c
Ha !AI(_.I:, Hs (8) () N0z o
b CH
= 1< HiC NO, HsC 0/ 3
ON

S’ 2. HpSO4/HNG,

Which of the following compound is more likely to be the major product of the following reaction?

H H H
_KMnOs  a (8) © 9 M (o)

Which of the following compound is more likely to be the major product of the following reaction?
0,_.OH

1,80C ™ 0 QMe ‘
A 5w ove ® FN, £ € a @ ¢ Hmy
) 2 meoH OMe OMe
Which of the following compound is more likely to be the major product of the following reaction?

1. PCC

O ———— (A 15) (D)
2. NaOMe \/Lko“” ;\/\OMe W\f

Which of the following compound is more likely 1o be the major product of the following reaction?
() T, LD P 59 -0 "0
Which of the following compound is more likely to be the major product of the following reaction?
LiAH,  (A) (8) (© Ho o)

|
N J OH P
/\n/ — | ——— /\OH "\/\NHz /\/’N\/ P + NH,
0

Which of the following compound is more likely to be the major product of the following reaction?
® o HO CHS ( (D)
1oA %
2. Mel ’ \ﬁ

] &AE

How many absorptions would you expect in the 3C NMR spectrum of “phenyl ethyl ether™? (5%)

A quartet signal is observed in the 'H NMR spectrum of “phenyl ethyl ether”. Indicate the number of protons.

that this signal represented. (5%)



